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1. Which teaching combines form—focused teaching with communication-—
focused teaching ?

A. PPP
B. TBLT
C.CLT

D. TPR

[%2%] B

2+ In the college—admissions wars, we parents are the true

fighters. We’ re pushing our kids to get good grades, take SAT
preparatory courses and build resumes so they can get into the
college of our first choice T ve twice been to the wars, and as I
survey the battlefield, something different is happening We see our
kids’ college background as a prize demonstrating how well we’ ve
raised them. But we can’ t acknowledge that our obsession is more
about us than them So we’ ve contrivedvarious justifications that
turn out to be half-truths, prejudices or myths It actually doesn’ t
matter much whether Aaron and Nicole go to Stanford

A. they earn less than their peers from other institutions
B. they turn out to be less competitive in the job market
C. they experience more job dissatisfaction after graduation

D. they overemphasize their qualifications in job applications

[%%] C

3. Which of the following groups are complementary antonyms?



A. good—Dbad
B. buy—sell

C. above—below

D. boy——girl
[%%] D

4, WEBIER L, SERUGE

A. choosing a career according to what one is skilled in
B. acquiring knowledge by working hard at school

C. finding one’ s strong and weak points

D. developing one’ s abilities useful in school work

[5X£] A

5. The Law to Keep the 0il Industry under Control
A.a large reduction on unemployment

B.a growth in the tourist industry

C.a reduction in the number of existing industries

D. the development of a number of service industries

[Z%%] C

6. In spite of all stories of prosperity in the United States, not
only does poverty exist there, but crimes of various types have been
increasing at an alarming rate. Most acts of violence were committed
by yvoung people. 57% of the criminals arrested in 1979 were youths
below 25 of age.



A. Of the criminals arrested in 1970, 57 percent were youths below 25
of age

B. Lack of education has little to do with the crime rate

C.Differences in state laws for death penalty also account for the
increase of crime rate

D. Drug smuggling is the only product of too many shows and reports

[5Z%] C

7. B E Passage 2, SERE/DME:

A. It evolves from common sense

B. It is secondary to intelligence
C. It should be pursued

D. It 1ignores power

[%%] C

8. TH WL Passage 1, S8R/,
A. Adapt

B. Match

C. Accept

D. Understand

[%%] C

9. THW L Passage 2, SRR/,
A. The phrase “coming out” is only used in the gay community

B. The meaning of “coming out” is becoming wider and wider



C. The phrase “coming out” only stands for a shocking secret in hiding

D. The meaning of “coming out” has not changed until now

[%%] B

10, A variety of a language used recognizably in a specific region or
by a specific social class is called

A. dialect
B. registers
C.creoles
D. pidgins

[%%£] A

11. W:Beirut is in Peru, isn’ t it
A.quality

B. quantity

C.relation

D. manner

[5X£] A

12. T would have told him the answer, but I ( ) so busy then.
A. had been
B. were

C. was

D. would be



13. Passage 1
A. The culture camps caused Alex to hate everything about India
B. The East India Colorado Heritage Camp led to Alex’ s immigration

C.Hidden Valley served as a link between Alex’ s old world and the
new

D. The culture camps helped Alex better understand his mixed-race
family

[%Z%] D

14. The pair of English phonemes &% %  differ in the place of
articulation & & ulfr.

A.// and //
B./6/ and /e/
C./d/ and /z/

D. /m/ and /n/

[%%] D

15, Which of the following statements about the Situational Approach
1s NOT true

A. Adopt an inductive approach to grammar teaching

B. Encourage explanations of the meaning of new items in foreign
language

C. Focus on language accuracy



D. Practice structures and patterns through repetition and
substitution activities

[%Z%] B

16, Passage 2

A. the differences of children in their learning capabilities
B. the definition of exceptional children in modern society
C. the special educational programs for exceptional children

D. the necessity of adapting education to exceptional children

[%Z%] D

17, As 1 , my son learned to speak English fluently before

the school year was over.
A. had expected

B. was expecting

C.would expect

D. expected

[5X£] A

18, Children may get into some bad habits they lack sell-
discipline.

A. when
B. unless

C. though

D.until



19. Our civilization cannot be thought of as in a short period
of time.

A. to have been createD
B. to be createD
C. having been created

D. being createD

[5%] C

20. Passage 2

A. he would survive best

B. he would have a lot of trouble

C. the evolution of memory would stop

D.his ability to learn would be enhanced

[%%] B

21. Passage 2
A. food

B.oil

C. space

D. resources

[5Z%] C



22, Which word is different from the other three in word formation?
A. USA
B.Flu
C. AIDS

D. WTO

23+ I arrived at the airport so late that I missed the

plane.
A.only

B. quite

C. narrowly

D. seldom

[Z%%] C

24, When teachers teach pronunciation to students, which suggestion
1s useless?

A.Use hands and arms to conduct choral pronunciation practice
B. Move around the classroom when doing choral practice
C. Try to use visual aids

D.Rely on explanations

[%%] D

295, Passage 1

A.Clear



B. Safe
C. Straight

D.Difficult

[%%£] A

26+ The is designed according to the morphological and
syntactic aspects of a language.

A. structural syllabus
B. situational syllabus

C. skill-based syllabus

D. content—based syllabus

[%Z%] A

27. The conversational implication of “John is a machine” as a
response to “What do you think of John” is context—-bound. Tt
possesses all the following distinguishing properties but

A. non—detachability
B.calculability
C. conventionality

D. defeasibility

[%5%] C

28, PR . SERER /N,
A. the students

B. Donna and her students



C.The I can’ ts”

D.”T Can”, “I Will” and “I’m Going to”

[%%] D

29. Anne Whitney, a sophomore at Colorado State University, first had
a problem taking tests when she began college.”I was always well
prepared for my tests. Sometimes I studied for weeks before a test.
Yet I would go in to take the test, only to find I could not answer
the questions correctly. I would blank out because of nervousness and
fear. T couldn’t think of the answer. My low grades on the tests did
not show what I knew to the teacher.” Another student in biology had
similar experiences. He said, "My first chemistry test was very
difficult. Then, on the second test,

A. poor sleeping habit
B. laziness
C. lack of sleep

D.inability to form good study habits

[%%] D

30. When selecting listening materials, a text spoken at 1s

preferred.

A.normal speed

B. slower than normal speed
C. slow speed

D. fast speed

[%%£] A



31, The similarity between the English consonants /p/, /b/, and /m/is
that they are all ( ?) .

A. fricative

B. plosive

C. labial—-dental

D.bilabial
[%%] D

32. President Arling has put his long awaited economic restructuring
program before the Congress. It provides a coordinateD. program of
investment credits, research grants, education reforms, and changes
designed to make American industry more

A. support
B. distaste
C. Disapproval

D. Compromise

[5X£] A

33+ What role does the teacher play at the feedback stage
A. Assessor

B. Instructor

C. Manager

D. Researcher

[5Z%£] A
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